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–(min)(n1, n2)  
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–º222 )( ba  
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 (opensooq) 

  
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 
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 
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    
 

QBASIC           
 

 ––(FOR–NEXT)  
 

 –(X1,Y1)(X2,Y2)

   12
12
XX
YYS




 
 

 –(m)(X) 
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 

 

QBASIC          

 QBASIC 

 rem$ = K$ * "4" 
 IF A = 0 Then A = 5 ELSE 
 Print 5 mod (A – A) 
 Input  B$ , 4C 
 FOR K = 1.5 TO K–3 Step 

QBASIC  

Input N 
IF N <> 10 Then REM Let N = 5 ELSE End 
Print "The output is:","N"; N 

–if     

– 

–QBASIC 

–"N"N 

–(Compiler)QBASIC 

 

          
INPUT grade 
avg = total / 30 
FOR J = 1 to 30 
Print avg 
total = 0 
total = total + grade 
next J 

 

 

 



 

 

 

 

   
      

QBASICA=2, B=–1.5, C=3     
1) SQR(abs(B) * cint(A*C))   2) Fix(B)^2 <> tan(15*A)/tan(10*C) 

   

  

  

  

  

  

  

  

      

(1) 
For R = 2 to 10 step R 
   Print  R , 
   R = 5 * R 
Next R 
Print R$ 

(2) 
For w = 2 to w  
 w =–2 
 CLS  
Next w 
Print w + 4   

(3) 
N = 4 
IF N=4 then N=N–2 
IF N<4 then N=N+3 
IF N>4 then N=N*2 
Print N    

(4) 
J =–1 
For J=–J to int(J) step 2*J 
   Print 2 + J mod 2   
Next J 

(5) 
N =–2 
N =–N^2 
Print N$;  
Print n 

 


 


